
14 【解答】(1)対称性より、4次方程式の解は α, β, γ = −α, δ = −βであるから

x4 + ax3 + bx2 + cx + d = (x − α)(x − β)(x + α)(x + β)

= (x2 − α2)(x2 − β2)

= x4 − (α2 + β2)x2 + α2β2 · · · 1©

係数を比べて
a = c = 0 · · · (答)

(2) 1©より b = −(α2 + β2), d = α2β2 であるから

b2 = 3d ⇐⇒ (α2 + β2)2 = 3α2β2

⇐⇒ α4 − α2β2 + β4 = 0

⇐⇒
(
β
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)4
−
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⇐⇒
(
β
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)2
=

1 ± √3i
2

= cos (±60◦) + i sin (±60◦)

β = α(cos θ + i sinθ) (0 < θ < 180◦)とおくと

cos 2θ + i sin 2θ = cos (±60◦) + i sin (±60◦)
∴ θ = 30◦, 150◦

したがって

2本の対角線のなす角は 30◦

また、線分 AB の長さは
√

6 ± √2
2


· · · (答)


